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SECTION A (32 marks)

Answer ALL questions in this section.

1. Giate four goals of project financing. (4 marks)
2. Differentiate between an annuity and a perpetuity in project financing. {4 marks)
3 Highlight three advantages of factonng, as source of project finance. (3 marks)
4, Srate three factors that may lead to inereased cost of an ongoing project. {3 marks)
5 The ordinary shares of Deto Limited are currently selling at Ksh 60 each. The company had
paid a previous dividend of Ksh 6 per share. The dividend is expected to grow at the rate of
6% per annum. Calculate the cost of equity. (3 marks)
6. Highlight four disadvantages of using retained pafnings as a source of project finance.
: (4 marks)
1. State the meaning of mutually exclusive projects. (2 marks)
8. Highlight three ways in which the concept of fime&alue of money is important in project
financing- (3 marks)
Q, Differentiate between 4 financial lease amlr‘i:-peraﬂng lease. {4 marks}
10, State two advantages of Internal Rate of Returm (IRR) method of investment projects
evaluation, (2 marks)
SECTION B (68 marks)
Answer ALL the questions i this section.
11.  (a) Explain four causes of apency confiict between creditors and ghareholders of a
COMpany. (% marks}
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12. {a)

(b)
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The following is an extract of the balance sheet of Stemo Limited.

Stemo Limited
Balance Shect
Asg at 31 December,
2019 2020
(Ksh “0007)  (Ksh ‘000")
Current Assets:
Cash 400 520
Accounts receivable 170 154D
Inventory _ 5 _100
Total current assets G600 810
Long term assets:
Plant and equipment 2790 2.760
Total assets 3450 3310
Current liahilities:
Accounts payable 300 350
Bank overdraft _ 250 _120
Total current liabilities __ 550 _470
Long-term debt _ 500 _450
Total liabilites 1.050 _920
Owners” equity 6&3 650
Retained earnings 1:200 20K =
Total owners' squity 2 400 24650 t = ':‘ e
Total liabilities and equity 3 450 3570 _ i
Leiribal = 4 S o L
{i) For each year, calculate the: M rreers = Blaidai
Lt o=
L. current ratio; BSfedd = Cappits
1I. quick assets ratio. Gpinal = Mar— L

Lias = REe=t

{ii)  Using the results in (i) above, comment on the liguidity position of the company

over the two years. {9 marks)
Explain four uses of a cash flow statement in praject financing. . {& marks)
Outline six financial needs of a new project. (9 marks)
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{b)
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Explain four ways in which a project may negatively affect the local community.
(8 marks)

A company intends to invest Ksh 4,600,000 in either Project A or Project B. The
following are the expected net cash inflows from the projects.

Net Cash Inflows
Year ProjectA Project B
(Ksh) (Ksh)
1,200,000 1,570,000
1,750,000 1,900,000
2,000,000 1,800,000
200000 700,000
200,000 300,000

L9 T A T R 5

The company’s cost of capital is 12%.
(i) Calculate the Net Present Value {(NFY) of each project.

(i)  Based on the resuits in (i} above, advise the management on the project to invest
in. (% marks)

Explain four circumstances under whi¢h trade credit may be a suitable source of project
financing. ‘Yo . © (% marks)}

The following is the capital structure of Tajirl Limited as at 31 December 2020.

Source of capital Amount
e {Ksh)
Debt ENLANEEY

Preference share capital 2,000,000
Equity share capital 7 000,000
Retained earnings 2,000,000

The coat of debt, preference shares, equity shares and retained eamings is 14%, 12%,

16% and 16%, respectively, Caleulate the Weighted Average Cost of Capital (WACC).
(9 marks)
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